

Bid Tabulation Melrose Ave, Homer Ave & Elliott Ave Water Main Replacement

Route	Melrose, Homer, & Elliott
County	Kane
ocal Agency	City of Aurora
Section	

10 Bids Received on 2/24 at 2 p.m.

				Engineer's Estimate		Gerardi Sewer & Water Co. 4520 N. Osage Norridge, IL 60706		Brant Builders, Inc. 385 East Hoover St. Morris, IL 60450		J. Congdon Sewer Service, Inc. 170-A Alexandra Way Carol Stream, IL 60188		Superior Excavating, Inc. P.O. Box 575 Channahan, IL 60410	
NO.	<u>ITEM</u>	<u>UNIT</u>	QUANTITY	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>
Gene													
1	Storm, Sanitary, Water Structures to be Abandoned	EA	13	\$200.00	\$2,600.00	\$100.00	\$1,300.00	\$300.00	\$3,900.00	\$50.00	\$650.00	\$500.00	\$6,500.00
2	Storm, Sanitary, Water Structures to be Removed	EA	4	\$500.00	\$2,000.00	\$100.00	\$400.00	\$750.00	\$3,000.00	\$50.00	\$200.00	\$690.00	\$2,760.00
3	Select Granular Trench Backfill	CY	2,555	\$20.00	\$51,100.00	\$12.00	\$30,660.00	\$24.80	\$63,364.00	\$1.00	\$2,555.00	\$23.00	\$58,765.00
4	Unsuitable Soil Removal and Replacement	CY	100	\$20.00	\$2,000.00	\$0.01	\$1.00	\$60.00	\$6,000.00	\$10.00	\$1,000.00	\$12.00	\$1,200.00
5	Exploration Trench, 8 Ft	LF	60	\$300.00	\$18,000.00	\$0.01	\$0.60	\$100.00	\$6,000.00	\$25.00	\$1,500.00	\$27.00	\$1,620.00
Storn	<u>Sewer</u>												
6	Storm Sewer Removal and Replacement, 10" DIP	FT	21	\$75.00	\$1,575.00	\$76.00	\$1,596.00	\$110.00	\$2,310.00	\$60.00	\$1,260.00	\$67.00	\$1,407.00
7	Storm Sewer Removal and Replacement, 12" DIP	FT	27	\$90.00	\$2,430.00	\$90.00	\$2,430.00	\$120.00	\$3,240.00	\$75.00	\$2,025.00	\$72.00	\$1,944.00
8	Storm Sewer Removal and Replacement, 18" DIP	FT	22	\$120.00	\$2,640.00	\$120.00	\$2,640.00	\$140.00	\$3,080.00	\$135.00	\$2,970.00	\$106.00	\$2,332.00
Sanit	ary Sewer												
9	Sanitary Sewer Service Removal and Replacement, 6"	FT	40	\$40.00	\$1,600.00	\$30.00	\$1,200.00	\$100.00	\$4,000.00	\$50.00	\$2,000.00	\$68.00	\$2,720.00
10	Sanitary Sewer Removal and Replacement, 8"	FT	22	\$50.00	\$1,100.00	\$90.00	\$1,980.00	\$100.00	\$2,200.00	\$60.00	\$1,320.00	\$71.00	\$1,562.00
Wate	<u>r Main</u>												
11	DIP Water Main, Class 52, with Polywrap, 6"	FT	30	\$70.00	\$2,100.00	\$60.00	\$1,800.00	\$55.00	\$1,650.00	\$60.00	\$1,800.00	\$79.00	\$2,370.00
12	DIP Water Main, Class 52, with Polywrap, 8"	FT	4,160	\$70.00	\$291,200.00	\$80.00	\$332,800.00	\$59.50	\$247,520.00	\$105.00	\$436,800.00	\$75.00	\$312,000.00
13	Additional Cost for Zinc Coating of Ductile Iron Water Main, 6"	FT	30	\$2.75	\$82.50	\$3.15	\$94.50	\$4.00	\$120.00	\$0.01	\$0.30	\$3.90	\$117.00
14	Additional Cost for Zinc Coating of Ductile Iron Water Main, 8"	FT	4,160	\$3.00	\$12,480.00	\$3.15	\$13,104.00	\$4.00	\$16,640.00	\$0.01	\$41.60	\$3.90	\$16,224.00
15	Restrained Joint Gaseket, 6"	EACH	6	\$110.00	\$660.00	\$70.00	\$420.00	\$90.00	\$540.00	\$60.00	\$360.00	\$75.00	\$450.00
16	Restrained Joint Gaseket, 8"	EACH	16	\$120.00	\$1,920.00	\$85.00	\$1,360.00	\$110.00	\$1,760.00	\$80.00	\$1,280.00	\$97.00	\$1,552.00

			Engineer's Estimate		4!	Gerardi Sewer & Water Co. 4520 N. Osage Norridge, IL 60706		Brant Builders, Inc. 385 East Hoover St. Morris, IL 60450		J. Congdon Sewer Service, Inc. 170-A Alexandra Way Carol Stream, IL 60188		Superior Excavating, Inc. P.O. Box 575 Channahan, IL 60410	
NO.		<u>UNIT</u>	QUANTITY	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	AMOUNT
17	Additional Cost for V-Bio polywrap substitution	FT	4,190	\$0.20	\$838.00	\$0.50	\$2,095.00	\$1.50	\$6,285.00	\$0.01	\$41.90	\$1.50	\$6,285.00
18	Water Main Lowering, 8"	FT	40	\$100.00	\$4,000.00	\$110.00	\$4,400.00	\$150.00	\$6,000.00	\$200.00	\$8,000.00	\$85.00	\$3,400.00
19	Line Stop, 6"	EA	1	\$3,500.00	\$3,500.00	\$3,400.00	\$3,400.00	\$4,500.00	\$4,500.00	\$2,400.00	\$2,400.00	\$5,000.00	\$5,000.00
20	Line Stop, 8"	EA	1	\$4,500.00	\$4,500.00	\$3,800.00	\$3,800.00	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00
21	8" MJ Gate Valve in 48" Vault	EACH	11	\$3,750.00	\$41,250.00	\$3,250.00	\$35,750.00	\$3,400.00	\$37,400.00	\$3,500.00	\$38,500.00	\$2,850.00	\$31,350.00
22	Fire Hydrant Assembly Removal	EACH	8	\$550.00	\$4,400.00	\$500.00	\$4,000.00	\$200.00	\$1,600.00	\$50.00	\$400.00	\$550.00	\$4,400.00
23	Fire Hydrant Assembly	EACH	13	\$5,500.00	\$71,500.00	\$5,000.00	\$65,000.00	\$4,200.00	\$54,600.00	\$7,500.00	\$97,500.00	\$4,650.00	\$60,450.00
24	1" Dia. Curb Stop and B-Box	EACH	97	\$500.00	\$48,500.00	\$525.00	\$50,925.00	\$400.00	\$38,800.00	\$500.00	\$48,500.00	\$617.00	\$59,849.00
25	1" Dia. Tap and Corp Stop	EACH	97	\$500.00	\$48,500.00	\$500.00	\$48,500.00	\$500.00	\$48,500.00	\$650.00	\$63,050.00	\$510.00	\$49,470.00
26	1" Dia. Copper Water Service, Open Cut	FT	825	\$20.00	\$16,500.00	\$8.00	\$6,600.00	\$31.00	\$25,575.00	\$4.00	\$3,300.00	\$28.00	\$23,100.00
27	Trenchless 1" Dia. Copper Water Service	FT	2,340	\$20.00	\$46,800.00	\$10.00	\$23,400.00	\$26.00	\$60,840.00	\$5.00	\$11,700.00	\$28.00	\$65,520.00
28	Disconnect From Existing 6" Water Main	EACH	1	\$2,400.00	\$2,400.00	\$1,275.00	\$1,275.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,380.00	\$1,380.00
29	Connect to Existing 6" Water Main	EACH	2	\$3,000.00	\$6,000.00	\$4,750.00	\$9,500.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
30	Connect to Existing 8" Water Main	EACH	3	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00	\$1,600.00	\$4,800.00	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00
31	Additional Fittings	POUND	1,000	\$3.00	\$3,000.00	\$0.01	\$10.00	\$9.00	\$9,000.00	\$0.01	\$10.00	\$9.00	\$9,000.00
Resto	<u>ration</u>												
32	Temporary Pavement, 2"	SY	2,333	\$8.00	\$18,664.00	\$0.01	\$23.33	\$15.00	\$34,995.00	\$1.00	\$2,333.00	\$9.00	\$20,997.00
33	Class D Patching, 5" Binder	SY	2,333	\$70.00	\$163,310.00	\$36.00	\$83,988.00	\$37.50	\$87,487.50	\$37.00	\$86,321.00	\$47.00	\$109,651.00
34	HMA Surface Course, 1-1/2"	TON	324	\$110.00	\$35,640.00	\$86.00	\$27,864.00	\$90.00	\$29,160.00	\$87.00	\$28,188.00	\$104.00	\$33,696.00
35	HMA Surface Removal, 1-1/2"	SY	1,394	\$5.00	\$6,970.00	\$3.80	\$5,297.20	\$4.10	\$5,715.40	\$4.00	\$5,576.00	\$4.50	\$6,273.00
36	HMA Drive Approach Removal & Replacement, 4"	SY	288	\$50.00	\$14,400.00	\$37.00	\$10,656.00	\$42.00	\$12,096.00	\$38.00	\$10,944.00	\$47.00	\$13,536.00
37	PCC Drive Approach Removal & Replacement, 6"	SY	170	\$90.00	\$15,300.00	\$69.00	\$11,730.00	\$80.00	\$13,600.00	\$70.00	\$11,900.00	\$87.00	\$14,790.00
38	Combination PCC Curb and Gutter Removal and Replacement	LF	210	\$50.00	\$10,500.00	\$28.00	\$5,880.00	\$33.00	\$6,930.00	\$30.00	\$6,300.00	\$42.00	\$8,820.00
39	PCC Sidewalk Rem. and Replace, 5"	SF	150	\$20.00	\$3,000.00	\$8.00	\$1,200.00	\$11.00	\$1,650.00	\$9.00	\$1,350.00	\$10.50	\$1,575.00
40	Thermoplastic Pavement Markings, 24"	FT	80	\$15.00	\$1,200.00	\$22.50	\$1,800.00	\$37.00	\$2,960.00	\$22.50	\$1,800.00	\$5.00	\$400.00
41	Mailbox Removal and Reset	Each	52	\$150.00	\$7,800.00	\$80.00	\$4,160.00	\$100.00	\$5,200.00	\$30.00	\$1,560.00	\$100.00	\$5,200.00
42	Aggregate Wedge Shoulder, Type B	Ton	276	\$40.00	\$11,040.00	\$40.00	\$11,040.00	\$43.00	\$11,868.00	\$40.00	\$11,040.00	\$19.00	\$5,244.00

				Engineer's Estimate		Gerardi Sewer & Water Co. 4520 N. Osage Norridge, IL 60706		Brant Builders, Inc. 385 East Hoover St. Morris, IL 60450		J. Congdon Sewer Service, Inc. 170-A Alexandra Way Carol Stream, IL 60188		Superior Excavating, Inc. P.O. Box 575 Channahan, IL 60410	
NO.	<u>ITEM</u>	<u>UNIT</u>	QUANTITY	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>
43	Seeding - Aurora Mix	SY	4,362	\$10.00	\$43,620.00	\$6.75	\$29,443.50	\$6.50	\$28,353.00	\$8.00	\$34,896.00	\$4.50	\$19,629.00
Admi	nistration, Safety & Erosion Control												
44	Items Ordered by Engineer	Allowance	1	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
45	Traffic Control and Protection	LS	1	\$30,000.00	\$30,000.00	\$30,120.00	\$30,120.00	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00	\$43,600.00	\$43,600.00
46	Inlet Protection	EACH	8	\$100.00	\$800.00	\$105.08	\$840.64	\$150.00	\$1,200.00	\$1.00	\$8.00	\$133.00	\$1,064.00
47	Dewatering Bag	EACH	2	\$300.00	\$600.00	\$225.00	\$450.00	\$500.00	\$1,000.00	\$100.00	\$200.00	\$181.00	\$362.00
48	Temporary Staging	CY	100	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$40.00	\$4,000.00	\$1.00	\$100.00	\$10.00	\$1,000.00
49	Non-Special Waste Disposal	CY	40	\$50.00	\$2,000.00	\$48.00	\$1,920.00	\$50.00	\$2,000.00	\$1.80	\$72.00	\$35.00	\$1,400.00
50	Special Waste Disposal	CY	40	\$50.00	\$2,000.00	\$48.00	\$1,920.00	\$50.00	\$2,000.00	\$1.13	\$45.20	\$35.00	\$1,400.00
51	Disposal Tickets to Heartland Recycling	LOADS	600	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	Total = \$1,149,519.50					Total =	\$969,773.77	Total =	\$1,000,938.90	Total =	\$1,045,497.00	Total =	\$1,111,364.00
	Percent Above/Below Engineer					er's Estimate =	-18.53%		-14.84%		-9.95%		-3.43%

Note: Red text denotes errors in the submitted schedule of prices

Patnick Construction, Inc. 431 Podlin Drive Unit B			tion by Camco, Inc.		Linden & Sons		& Sons Excavating		Construction, Inc.	Swallow Construction Corporation		
	lin Park, IL 60131		Oak Leaf Street liet, IL 60436		South St., Unit D ano, IL 60545		3 Theodore St st Hill, IL 60403		0 Gasket Drive Igin, IL 60120	4250 Lacey Road Downers Grove, IL 60515		
UNIT COST			UNIT COST AMOUNT		UNIT COST AMOUNT		UNIT COST AMOUNT		UNIT COST	AMOUNT		
										-		
\$200.00	\$2,600.00	\$500.00	\$6,500.00	\$300.00	\$3,900.00	\$175.00	\$2,275.00	\$450.00	\$5,850.00	\$500.00	\$6,500.00	
\$300.00	\$1,200.00	\$1,000.00	\$4,000.00	\$300.00	\$1,200.00	\$325.00	\$1,300.00	\$380.00	\$1,520.00	\$250.00	\$1,000.00	
\$29.00	\$74,095.00	\$40.00	\$102,200.00	\$5.00	\$12,775.00	\$25.00	\$63,875.00	\$47.00	\$120,085.00	\$26.00	\$66,430.00	
\$30.00	\$3,000.00	\$15.00	\$1,500.00	\$10.00	\$1,000.00	\$30.00	\$3,000.00	\$55.00	\$5,500.00	\$25.00	\$2,500.00	
\$10.00	\$600.00	\$52.00	\$3,120.00	\$10.00	\$600.00	\$25.00	\$1,500.00	\$67.00	\$4,020.00	\$25.00	\$1,500.00	
\$80.00	\$1,680.00	\$90.00	\$1,890.00	\$92.00	\$1,932.00	\$60.00	\$1,260.00	\$118.00	\$2,478.00	\$110.00	\$2,310.00	
\$90.00	\$2,430.00	\$110.00	\$2,970.00	\$105.00	\$2,835.00	\$68.00	\$1,836.00	\$127.00	\$3,429.00	\$125.00	\$3,375.00	
\$120.00	\$2,640.00	\$174.00	\$3,828.00	\$110.00	\$2,420.00	\$115.00	\$2,530.00	\$168.00	\$3,696.00	\$225.00	\$4,950.00	
\$60.00	\$2,400.00	\$90.00	\$3,600.00	\$75.00	\$3,000.00	\$75.00	\$3,000.00	\$67.00	\$2,680.00	\$250.00	\$10,000.00	
\$150.00	\$3,300.00	\$120.00	\$2,640.00	\$125.00	\$2,750.00	\$85.00	\$1,870.00	\$146.00	\$3,212.00	\$250.00	\$5,500.00	
				1						ı		
\$68.00	\$2,040.00	\$108.00	\$3,240.00	\$81.00	\$2,430.00	\$55.00	\$1,650.00	\$167.00	\$5,010.00	\$105.00	\$3,150.00	
\$78.00	\$324,480.00	\$64.00	\$266,240.00	\$90.00	\$374,400.00	\$56.00	\$232,960.00	\$77.00	\$320,320.00	\$125.00	\$520,000.00	
\$5.00	\$150.00	\$3.50	\$105.00	\$3.50	\$105.00	\$3.50	\$105.00	\$3.50	\$105.00	\$3.15	\$94.50	
\$5.00	\$20,800.00	\$3.50	\$14,560.00	\$3.50	\$14,560.00	\$3.50	\$14,560.00	\$3.50	\$14,560.00	\$3.15	\$13,104.00	
\$80.00	\$480.00	\$68.00	\$408.00	\$150.00	\$900.00	\$90.00	\$540.00	\$120.00	\$720.00	\$85.00	\$510.00	
\$90.00	\$1,440.00	\$91.00	\$1,456.00	\$160.00	\$2,560.00	\$115.00	\$1,840.00	\$150.00	\$2,400.00	\$110.00	\$1,760.00	

431 P	k Construction, Inc. odlin Drive Unit B din Park, IL 60131	Construction by Camco, Inc. 2125 Oak Leaf Street Joliet, IL 60436		H. Linden & Sons 722 E. South St., Unit D Plano, IL 60545		120	& Sons Excavating 03 Theodore St st Hill, IL 60403	120	n Construction, Inc. 0 Gasket Drive gin, IL 60120	Swallow Construction Corporation 4250 Lacey Road Downers Grove, IL 60515		
UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
\$1.00	\$4,190.00	\$0.50	\$2,095.00	\$1.00	\$4,190.00	\$4.00	\$16,760.00	\$0.70	\$2,933.00	\$0.50	\$2,095.00	
\$150.00	\$6,000.00	\$185.00	\$7,400.00	\$90.00	\$3,600.00	\$145.00	\$5,800.00	\$167.00	\$6,680.00	\$195.00	\$7,800.00	
\$4,000.00	\$4,000.00	\$4,400.00	\$4,400.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$3,750.00	\$3,750.00	
\$4,500.00	\$4,500.00	\$4,600.00	\$4,600.00	\$4,500.00	\$4,500.00	\$3,900.00	\$3,900.00	\$5,800.00	\$5,800.00	\$4,200.00	\$4,200.00	
\$4,000.00	\$44,000.00	\$4,900.00	\$53,900.00	\$3,500.00	\$38,500.00	\$2,900.00	\$31,900.00	\$4,620.00	\$50,820.00	\$5,500.00	\$60,500.00	
\$300.00	\$2,400.00	\$600.00	\$4,800.00	\$750.00	\$6,000.00	\$14.00	\$112.00	\$850.00	\$6,800.00	\$1,000.00	\$8,000.00	
\$4,900.00	\$63,700.00	\$5,200.00	\$67,600.00	\$4,800.00	\$62,400.00	\$4,450.00	\$57,850.00	\$4,820.00	\$62,660.00	\$7,850.00	\$102,050.00	
\$600.00	\$58,200.00	\$450.00	\$43,650.00	\$750.00	\$72,750.00	\$600.00	\$58,200.00	\$1,510.00	\$146,470.00	\$135.00	\$13,095.00	
\$700.00	\$67,900.00	\$450.00	\$43,650.00	\$750.00	\$72,750.00	\$700.00	\$67,900.00	\$860.00	\$83,420.00	\$3,750.00	\$363,750.00	
\$15.00	\$12,375.00	\$39.00	\$32,175.00	\$35.00	\$28,875.00	\$22.00	\$18,150.00	\$46.00	\$37,950.00	\$10.00	\$8,250.00	
\$20.00	\$46,800.00	\$35.00	\$81,900.00	\$42.00	\$98,280.00	\$35.00	\$81,900.00	\$44.00	\$102,960.00	\$10.00	\$23,400.00	
\$1,500.00	\$1,500.00	\$4,500.00	\$4,500.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$1,520.00	\$1,520.00	\$1,350.00	\$1,350.00	
\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$950.00	\$1,900.00	\$2,620.00	\$5,240.00	\$6,000.00	\$12,000.00	
\$3,800.00	\$11,400.00	\$5,500.00	\$16,500.00	\$3,500.00	\$10,500.00	\$2,350.00	\$7,050.00	\$2,880.00	\$8,640.00	\$7,500.00	\$22,500.00	
\$6.00	\$6,000.00	\$6.00	\$6,000.00	\$1.00	\$1,000.00	\$0.01	\$10.00	\$4.00	\$4,000.00	\$4.00	\$4,000.00	
	1											
\$15.00	\$34,995.00	\$15.00	\$34,995.00	\$1.00	\$2,333.00	\$30.00	\$69,990.00	\$10.00	\$23,330.00	\$10.00	\$23,330.00	
\$35.00			\$88,654.00	\$38.00				\$55.00		\$65.00	\$151,645.00	
\$105.00	\$34,020.00	\$95.00	\$30,780.00	\$125.00	\$40,500.00	\$98.00	\$31,752.00	\$100.00	\$32,400.00	\$90.00	\$29,160.00	
\$7.00	\$9,758.00	\$4.00	\$5,576.00	\$3.50	\$4,879.00	\$4.00	\$5,576.00	\$4.50	\$6,273.00	\$4.00	\$5,576.00	
\$40.00	\$11,520.00	\$41.00	\$11,808.00	\$40.00	\$11,520.00	\$53.00	\$15,264.00	\$47.00	\$13,536.00	\$55.00	\$15,840.00	
\$68.00	\$11,560.00	\$94.00	\$15,980.00	\$69.00	\$11,730.00	\$76.00	\$12,920.00	\$65.00	\$11,050.00	\$90.00	\$15,300.00	
\$26.00	\$5,460.00	\$48.00	\$10,080.00	\$32.00	\$6,720.00	\$38.00	\$7,980.00	\$37.00	\$7,770.00	\$40.00	\$8,400.00	
\$6.50	\$975.00	\$16.00	\$2,400.00	\$10.00	\$1,500.00	\$11.00	\$1,650.00	\$10.00	\$1,500.00	\$13.50	\$2,025.00	
\$35.00	\$2,800.00	\$40.00	\$3,200.00	\$25.00	\$2,000.00	\$40.00	\$3,200.00	\$41.00	\$3,280.00	\$34.00	\$2,720.00	
\$15.00	\$780.00	\$75.00	\$3,900.00	\$1.00	\$52.00	\$250.00	\$13,000.00	\$150.00	\$7,800.00	\$205.00	\$10,660.00	
\$20.00	\$5,520.00	\$25.00	\$6,900.00	\$40.00	\$11,040.00	\$42.00	\$11,592.00	\$48.00	\$13,248.00	\$42.00	\$11,592.00	

Patnick Construction, Inc. 431 Podlin Drive Unit B Franklin Park, IL 60131		Construction by Camco, Inc. 2125 Oak Leaf Street Joliet, IL 60436		H. Linden & Sons 722 E. South St., Unit D Plano, IL 60545		120	& Sons Excavating 03 Theodore St st Hill, IL 60403	120	n Construction, Inc. O Gasket Drive gin, IL 60120	Swallow Construction Corporation 4250 Lacey Road Downers Grove, IL 60515	
UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>	UNIT COST	<u>AMOUNT</u>
\$9.00	\$39,258.00	\$7.00	\$30,534.00	\$1.00	\$4,362.00	\$13.00	\$56,706.00	\$12.00	\$52,344.00	\$10.00	\$43,620.00
\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$44,700.00	\$44,700.00	\$77,300.00	\$77,300.00	\$72,000.00	\$72,000.00	\$150,000.00	\$150,000.00
\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$140.00	\$1,120.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$200.00	\$1,600.00
\$300.00	\$600.00	\$250.00	\$500.00	\$10.00	\$20.00	\$200.00	\$400.00	\$1,880.00	\$3,760.00	\$165.00	\$330.00
\$40.00	\$4,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$35.00	\$3,500.00	\$33.00	\$3,300.00	\$17.00	\$1,700.00
\$90.00	\$3,600.00	\$100.00	\$4,000.00	\$65.00	\$2,600.00	\$60.00	\$2,400.00	\$110.00	\$4,400.00	\$55.25	\$2,210.00
\$90.00	\$3,600.00	\$100.00	\$4,000.00	\$65.00	\$2,600.00	\$60.00	\$2,400.00	\$116.00	\$4,640.00	\$55.25	\$2,210.00
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Total =	\$1,119,601.00	Total =	\$1,147,934.00	Total =	\$1,155,542.00	Total =	\$1,170,917.00	Total =	\$1,492,124.00	Total =	\$1,832,341.50
	-2.67%		-0.14%		0.52%		1.83%		22.96%		37.26%